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According to the curriculum guidelines of technology domain of the 12-Year Basic

Education, what grade should the activity of “automata toy” be planned in ?

(A)Seventh grade (B)Eighth grade (C)Ninth grade (D)High school level

What kind of learning performance does “Be able to use technological tools to service

and maintain technological products” belong to ?

(A)Hands-on skills for everyday technology

(B)Integration of technological competencies

(C)Attitudes toward everyday technology usage

(D)Technological knowledge for everyday life

In the curriculum guidelines of technology domain, which of the following does not

belong to the focus of curriculum development in junior high school level ?

(A)Creative thinking

(B)Hands-on practice using technological tools; materials, and resources

(C)Emphasis on engineering design and engineering design projects

(D)Understand the development of technology and the relationship between technology
and society

In the curriculum guidelines of technology domain, which of the following does not

belong to the learning contents for “Mechanistic and structural applications of everyday

technological products” in junior high school level ?

(A)Transmission of force

(B)Gear system

(C)Principle of lever and connecting rod

(D)Application of computer software for mechanism analysis

Which of the following statement about “gears” is incorrect ?

(A)The mixer uses a gear mechanism to transmit power.

(B)Gears can be used to change the direction and the speed of movement.

(O)If the input gear is smaller than the output gear, the speed will increase.

(D)The racks and gears mechanism can be used to change the rotary motion to linear
motion.

Which of the following mechanism changes the constant speed rotary motion into

intermittent reciprocating linear motion ?

(A)Chain drive (B)Cam mechanism (C)Simple gear train (D)Worm and wheel

Which of the following mechanism transfers mechanical power from one place to

another in a bicycle system ?

(A)Belt (B)Chain Drive (C)Cam Follower  (D)Gear
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Which of the following structure is able to resist vertical pressure better ?

Which of the followmg statements about the structure is incorrect ?

(A)The arch structure is well stressed, the disadvantage is that it takes up space.

(B)The truss structure uses simple materials to withstand weight, and is often used to
build bridges.

(C)The cable structure is cheap and beautiful, and it is often used as the main structure
of the building,

(D)The beam-column structure is very stable for building houses, but it takes up space
and consumes materials.

What type of structure does the DVD box belong to ?

(A)A mass structure  (B)A frame structure (C)A shell structure (D)A layered look

Which of the following is not considered to be a source of renewable energy ?

(A)Water (B)Wind (C)Natural gas (D)Solar

Which of the following statement is incorrect ?

(A)The role of the fuse in the circuit is to avoid excessive voltage.

(B)If the length is the same, a wire with a larger cross-sectional area can withstand a
larger current.

(C)The fuse installed in the circuit or electrical appliance is a metal alloy wire with a
low melting point and a large resistance.

(D)Household electricity is parallel circuit:

How many time(s) does a four-stroke engine generates power during a complete cycle ?

(A1 (B)2 (©)3 (D)4

In AutoCAD software, which command is used to draw the line shown in the following

figure ?

(A)DOUNT (B)DIVIDE (C)ELLIPSE (D)ARC

Which of the following statement about the safety standards of living technology

classrooms is "less" appropriate 7

(A)Students should use the machine after the teacher demonstrates how to use it.

(B)If students take any medicine due to illness, they should use the machine carefully to
avoid accidents.

(C)Pay attention to nearby people and wear goggles when using the machine.

(D)Turn off the machine before leaving the work area after use.



66. Which of the following statement about the operation of a drill press is incorrect ?
(A)The specifications of most tabletop drill presses are expressed by the maximum
length of the drill bit.
(B)When drilling large holes, pilot holes with small bits should be used first.
(C)Large drill bits should use low speed drilling.
(D)It is strictly forbidden to wear gloves when operating a drill press.
67. Which of the following statement about operating Circular Saw is incorrect ?
(A)The saw blade should extend through the material being cut by 1/8 inches.
(B)Safety glasses, hearing protection, respirator and gloves should be worn by the
operators.
(C)Material should be well supported when being cut to prevent binding the saw blade
and causing a kickback.
(D)Before putting the saw down after a cut has been made, make sure the cover is over
the blade.
68. Which of the following statement is incorrect ?
(A)Roller, twist, or triangular drill bits shanks should only be used in a drill press
chuck.
(B)The blade on the portable circular saw should be aligned on the waste side of the
marking line when making a cut.
(C)Press your wood against the upward moving side of the disc while using the Disc
Sander.
(D)When installing a blade of'a scroll saw, ensure the teeth point downward.
69. Which of the following description of 3D printing is incorrect ?
(A)PLC is currently the most commonly used and affordable 3D printing material.
(B)"Stl" is the file format we export to print.
(C)3D printing can quickly generate models.
(D)Turn on "supports" to print a model with hands that stand out for the sides.
70. After an accident, when the teacher fills out the accident report form, which of the
following is "unnecessary" to fill in'?
(A)Describe how to deal with other students at the time of the accident.
(B)Describe the details of the anjury and indicate the affected body parts.
(C)Describe how the accident happened.
(D)Draw equipment configuration diagram and provide related photos.
71. What is the main induction technology-used in mobile payments (such as Apple Pay or
T Wallet, etc.) ?
(A)RFID (B)Bluetooth (CONFC (D)Infrared Ray
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Which of the following description of laser cutting is incorrect ?

(A)The laser will be unfocused, won't cut properly and the material might catch fire if
the lens and mirrors are dirty.

(B)Any vector file, such as Syg, Dxf, Pdf, etc. can be cut.

(O)If there is a sustained flame, pause the job and call the staff.

(D)During laser cutting, the focus can only be on the surface of the processing object.

For the front, side, and top views shown in the following figure, please match the correct

three-dimensional object.

(A) § (B) © (D)

Which manner are two power outlet on the wall most likely connected in ?

2
&

(A)Parallel (B)Series (C)Closed loop (D)Open loop
Which bulb can light up ?
(Ae,g (B)a,fh (Cae.g (D)h,g

(a) (b) (c)

(d) (e)

(9) (h)

===
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In the diagram, the resistance of the light bulb is 1 ohm and the resistor is 1 ohm. If the

voltage source is 8 voltage, what is the current in the light bulb ?

(A)2A @
(B)1A (@)
(CH4A S
(D)SA i

In the diagram, the resistance of the light bulb is-1 ohm and the resistor is 1 ohm. If the

voltage source is 8 voltage, what is the current in the voltage source ?

(AR2A
(B)1A @
(C)4A ()
(D)SA .

A circuit breaker is an automatically operated electrical switch designed to protect an
electrical circuit from damage caused by excess

(A)current (B)voltage (C)heat (D)force

If your extension power cord at home is short-cireuited, which device will most likely
respond for safety ?

(A)Voltage panel (B)Protection gauge

(C)Circuit breaker (D)Electrical insulation

From the aspect of electromechanics, the automatic doors installed in the convenience
stores and modern office building is a device of

(A)sensoring and control (B)electroetching

(C)conservation of heat (D)energy generation

Regarding the design of a circuit, which element is Jeast likely to consider its polarity ?
(A)Transistor (B)Diode (C)Energy source  (D)Resistor

Without potentiometer we can identify the resistance of a resistor by

(A)measuring the length of its appearance

(B)measuring the diameter of its appearance

(C)measuring the length and diameter of its appearance

(D)checking its colour code

Among these four material which is most likely an insulator ?

(A)Silver (B)Copper (C)Carbon (D)Steel

11
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A 7-segment Light-Emitting Diode is most likely used to
(A)indicate the status of power source (B)connect anode and cathode

(O)light the circuit board (D)show a number

The “law of conservation of energy’” means

(A)energy is conserved when electric energy shows up

(B)STEM guarantees the conservation of energy

(C)energy is neither created nor destroyed

(D)energy is important in the world

Al is used to solve today’s complex problems, for example, finding the source of
COVID-19 outbreak and providing means to slow and stop the spread of virus. What
does the abbreviation of Al stand for ?

(A)Academic incentive (B)Artificial incentive

(C)Artificial intelligence (D)Academic intelligence

Kolb’s experiential learning model is suggested to be used in STEM teaching for not
only equipping students with traditional skills in wusing technology tools but also
promoting their level of cognition. As the first step begins with hands-on work
providing concrete experience, then the third step is abstraction. The purpose of
abstraction is to build up

(A)hands-on skills (B)concept

(C)STEM tools, for example; arduino (D)computing thinking

A transformer is a passive electrical device that transfers electrical energy from one
electrical circuit to another. A varying current in any one coil of the transformer
produces a varying magnetic-flux in the transformer's core, which induces a varying
electromotive force across any other coils wound around the same core. Transformers
are commonly used in our daily life, and provide the voltage we need, for example, from
220 volt to 110 volt. Such emerging work is achieved by varying

(A)the size of transformer's magnetic core

(B)the number of turns in a winding

(C)the magnetic flux in the core

(D)the material of the core

Cellphone is a common device in people’s daily life. When it runs out of power, people
need to recharge it. The common scheme i1s to use a charger, which intakes 110 volt and
provides roughly how many volt output to the cellphone ?

(A)0.05 Volt (B)0.5 Volt (C)5.0 Volts (D)50 Volts

In general, how many individual LED are implemented in 7-segment display LED used
in today’s school laboratory ?
(A)6 (B)7
(C)8 (D)9
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